
Prüfungsaufgaben Aufgabe 77 
 

 

 



2.0, 2.1, 2.3  

 

 
2.2 

 

Im Dreieck MNF gilt: 

 

NF = ND - FD = 30 m - 3m = 27 m 
 

                NF  
cos 75° = ----- | *NM 

                NM  
 

NM * cos 75° = NF | :cos 75° 
 

            NF           27 m   
NM = --------- = --------- = 104,32 m 

         cos 75°      cos 75°   
 

α = 180° - 2 * 75° = 30° 
 

               π * NM² * α       π * 104,32² m² * 30°     

ASektor = --------------- = -------------------------- = 2 847,63 m² 

                  360°                        360°   

 
2.3  

 
Im Dreieck MNF gilt: 

 
                  NF  

tan α/2° = ------ | *NM 
                  NM  



NM * tan α/2° = NF | :tan α/2 
 

            NF             27 m  
NM = --------- = ------------ = 100,77 m 

         tan α/2      tan 30/2° 
 

Abstand a zu BC = 100,77 m - 90 m = 10,77 m 

 
2.4 

 
Strahlensatz: 

 
MO = a = 10,77 m 

 
GF = AD - 2 * AG = 60 m - 2 * 3 m = 54 m 

 
KL     MO   

--- = ---- | *GF 
GF     MN   

 
         MO * GF     10,77 m * 54 m    

KL = ----------- = ------------------- = 5,77 m 

             MN             100,77 m 
 

              GF + KL              54 m + 5,77 m  
ATrapez = ----------- * AB = ------------------ * 90 m = 2 689,65 m² 

                   2                            2  
 

15% davon = 0,15 * 2 689,65 m² = 403,45 m² 
 

2.5 

 

AAnlage = AHalbkreis + ADreieckGMF - AKreisausschnittGMF 

 

AN = AB/2 = 60 m/2 = 30 m 
 

                π * AN²     π * 30² m² 

AHalbkreis = --------- = ------------- = 1 413 m² 
                   2                  2 

 
                  GF * NM     54 m * 100,77 m 

ADreieckGMF = ---------- = --------------------- = 2 720,79 m² 

                       2                     2  

 
Im Dreieck NMF gilt: 

 
 

 



                MN    
cos α/2 = ----- | *MF 

                MF   
 

MF * cos α/2 = MN | :cos α/2 
 

            MN         100,77 m   

MF = --------- = ------------ = 104,32 m 
         cos α/2        cos 15°   

 
                         π * MF² * α      π * 104,32² m² * 30° 

AKreisausschnittGMF = -------------- = ------------------------- = 2 847,63 m² 
                              360°                      360°                  

 
AAnlage = 1 413 m² + 2 720,79 m² - 2 847,63 m² = 1 286,16 m²  

 
Kosten = 18,50 €/m² * 1 286,16 m² = 23 793,96 € 

 


